TD / Engineering and Fabrication
Specification # 0320-TR-333182

August 27, 1997

Rev.  A


f
Fermi National Accelerator Laboratory

Batavia, IL 60510



BOOSTER EXTRACTION

DOG-LEG FINAL ASSEMBLY TRAVELER



Reference Drawing(s)

Dog-Leg Two Magnet Assembly 0320-ME-137000

Dog-Leg One Magnet Assembly 0320-ME-137001



Budget Code:     
Project Code:     

Released by:
Date:

Prepared by:  R. Safarik

Title
Signature
Date

TD / E&F Process Engineering



TD / E&F Assembly



TD / E&F Tooling



TD / E&F Fabrication Manager



TD / E&F Device Design



TD / QA/QC Manager



TD / E&F Group Leader



Revision Page

Revision
Revision Description
Date





A
Changed Hydro pressure to 500 psig in Step(s) 7.1.  TRR No. 0710
8/27/97





















































Ensure appropriate memos and specific instructions are placed with the traveler before issuing the sub traveler binder to production.

1.0
General Notes

1.1
White (Lint Free) Gloves (Fermi stock 2250-1800) or Surgical Latex Gloves 



(Fermi stock 2250-2494) shall be worn by all personnel when handling all product parts after the 

parts have been prepared/cleaned.


1.2
All steps that require a sign-off shall include the Technician/Inspectors first initial and full last 

name.


1.3
No erasures or white out will be permitted to any documentation.  All incorrectly entered data shall 
be corrected by placing a single line through the error, initial and date the error before adding the 

correct data.


1.4
All Discrepancy Reports issued shall be recorded in the left margin next to the applicable step.


1.5 
All personnel performing steps in this traveler must have documented training for this traveler and 

associated operating procedures.


1.6
Personnel shall perform all tasks in accordance with current applicable ES&H guidelines and those 
specified within the step.


1.7
Cover the magnet assembly with green Herculite (Fermi stock 1740-0100) when not being 

serviced or assembled.


1.8
All Room Cure Epoxy to be applied at an ambient temperature of 65° F.

2.0
Parts Kit List
2.1
Attach the completed Parts Kit List for the Booster Extraction Dogleg Two Magnet Assembly to 

this traveler.  Ensure that the Module Unit number on the Parts Kit List matches the Module Unit 

number of this traveler.  Verify that the Parts Kit received is complete.



Process Engineering/Designee



Date


2.2
List individual One Magnet Assy. serial numbers below.




One Magnet Assy.







One Magnet Assy.






Note(s):




Attach core "OK to Proceed" tags to this traveler



Assembly/Designee




Date

2.3
Verify that the individual One Magnet Assemblies listed in Step 2.2 have been matched and 

approved for assembly in this module.



Note(s):




Attach Approval Documentation (FAX, E-mail printout, etc.) to this traveler



Assembly/Designee




Date

3.0
Assembly

3.1
Using the overhead crane and suitable techniques place two (2) One Magnet Assy. (MD-137001) 


on to the Support Stand (MD-137220) as indicated on Two Magnet Assembly ME-137000.  



  Completed


 EMBED Word.Picture.8  




Attach the Magnet assemblies to the support stand using 1/2"-13 x 2.25" Hex Bolts 



(MA-137050), 1/2" Plain Washers (MA-137107) and 1/2" Lock Washers (MA-137049)



  Completed

Attach the two (2) Top Bars (MB-137052) to the top of the magnets using 1/2"-13 x 2.25" Hex 

Bolts (MA-137050), 1/2" Plain Washers (MA-137107) and 1/2" Lock Washers (MA-137049) as 

indicated on Two Magnet Assembly ME-137000.



  Completed



Technician(s)





Date


3.2
Tighten all sixteen (16) 1/2"-13 Hex Bolts (MA-137106) to only 'Hand Tight'.



Technician(s)





Date

[This Page Intentionally Left Blank]

4.0
Beam tube Installation

4.1
Using the overhead crane and suitable lifting techniques, carefully lay the Two Magnet Assembly 

on it's side on top of suitable supports to protect the manifolding.  Ensure that the magnet parting-

planes are horizontal.


 EMBED Word.Picture.8  




Technician(s)





Date


4.2
Unfasten the appropriate components to allow removal of the upper-most half magnets.




Completed



Using the over head crane and suitable lifting techniques, carefully remove the two upper most half 

magnets.


 EMBED Word.Picture.8  





Completed



Technician(s)





Date

4.3
Install Ceramic Beam Tube Mx-xxxxx into the pole tip area of the Two Magnet Assembly as 

indicated on Dwg# Mx-xxxxx.  Fasten Beam Tube retaining brackets as indicated on Dwg#

Mx-xxxxx.


 EMBED Word.Picture.8  




Technician(s)





Date

4.4
Using the over head crane and suitable lifting techniques, carefully replace the two upper most half 
magnets previously removed. Using the overhead crane and suitable techniques, center the upper 

most half magnet assemblies to each other within .025" as indicated on One Magnet Assembly 

MD-137001.


 EMBED Word.Picture.8  




Technician(s)





Date

X

4.5
Install eight (8) 5/8"-11 x 22" Studs (MA-137059), sixteen (16) 5/8" Plain Washers 




(MA-343127), sixteen (16) 5/8" Lock Washers (MA-137060) and sixteen (16) 5/8"-11 Hex Nuts 



(MA-343126) as indicated on One Magnet Assembly MD-137001.


 EMBED Word.Picture.8  




Technician(s)





Date



4.6
Tighten all sixteen (16) of the 5/8"-11 Hex Nuts (MA-343126) to a stabilized torque of 70 - 95 Ft. Lbs. 



Technician(s)





Date

XX

4.7
Inspect the Core/Coil Assembly position as per Step 4.4 and the One Magnet Assembly 




MD-137001.



Note(s):




If cores are not centered, loosen the eight (8) 5/8"-11 Hex Nuts. Split 




the difference between cores equally on both ends, then perform Step 




4.6 again.


Lead Inspector





Date



Crew Chief





Date

4.8
Re-install Insulation Plates (MB-137056) and Spacers (MA-137058) as indicated on One 

Magnet Assembly MD-137001.  Fasten in place as indicated with 3/8"-16x1" Bolts 


(MA-343061), 3/8" flat washers (MA-331654), and lock washers (MA-331653)


 EMBED Word.Picture.8  




Technician(s)





Date

5.0
Post-Assembly Inspections
X

5.1
Measure and record the parting plane gap at 2" intervals where possible for each Single Magnet 



Assembly.


 EMBED Word.Picture.8  



 EMBED Word.Picture.8  


Single Magnet Serial #:



Single Magnet Serial #:



Inches from the Lead End
Lead Side
Non-Lead Side

Inches from the Lead End
Lead Side
Non-Lead Side





0







2







4







6







8



Average



Average





Note(s):




The Parting Plane average distance is not to exceed .004" per side and 




it is not to exceed 0.006" in any one location.


Inspector





Date

XXX

5.2
Using the raw data from Step 5.1 plot the Parting Plane Gap Measurements.



Note(s):




The Parting Plane average distance is not to exceed .004" per side and 




it is not to exceed 0.006" in any one location.


Evaluate Parting Plane Gap Plots.  O.K. to proceed ?


 Yes
 
No


Attach the plots behind this page.



Process Engineering/Designee



Date


5.3
Using the over head crane and suitable lifting techniques, carefully return the Two Magnet 


Assembly to the proper vertical orientation.


 EMBED Word.Picture.8  




Technician(s)





Date

6.0 
Manifold Assembly

6.1
Install Jumper (MB-137051) as indicated  on Two Magnet Assembly ME-137000.


 EMBED Word.Picture.8  




Technician(s)





Date


6.2
Assemble the manifolding as indicated on Two Magnet Assembly ME-137000.

 EMBED Word.Picture.8  




Technician(s)





Date

[This Page Intentionally Left Blank]

7.0
Post-Assembly Inspections
X

7.1
Perform a Flow Check of each One Magnet Assembly at a ∆P of 60 PSI and 100 PSI.  Perform a 



hydrostatic check of each One Magnet Assembly at 500 PSI and record the results below.  Refer to 


the Mechanical (Flow) Inspection (0320-ES-137025).



Record the Flow Cart Number used for the test.




One Magnet Assy. Serial#
∆P 60 PSI

(2.2 GPM Typ.)
∆P 100 PSI

(2.9 GPM Typ.)
Hydrostatic @

500 PSI

PASS
Hydrostatic @

500 PSI

FAIL















Inspector





Date

X

7.2
Perform an electrical check of the Magnet Assembly and record results below.

Electrical Test


Equipment Serial Number
Limit


Actual Measurement
Pass
Fail
Out of Tolerance

CoilResistance

39.0 ± 0.8 mΩ







LS @ 1 KHz

18.0 ± 1.0 mH

Reference Test Only





Q @ 1 KHz

Reference Test Only

Not Subject to Limit Values





LS @ 100 Hz

Reference Test Only

Not Subject to Limit Values





Q @ 100 Hz

Reference Test Only

Not Subject to Limit Values





Hipot

Coil to Core

10 KV @ < 5.0 µA







Inspector





Date

XX

7.3
Verify that the measurements and readings taken in Step 7.1 and 7.2 are acceptable before 



continuing with this traveler.



Lead Inspector





Date



Crew Chief





Date

[This Page Intentionally Left Blank]

8.0
Production Complete

XXX

8.1
Process Engineering verify that the Booster Extraction Dogleg Two Magnet Assembly Traveler 



(0320-TR-333182) is accurate and complete.  This shall include a review of all steps to ensure that 



all operations have been completed and signed off.  Ensure that all Discrepancy Reports, 




Nonconformance Reports, Repair/Rework Forms, Deviation Index and dispositions have been 



reviewed by the Responsible Authority for conformance before being approved.



Comments:



Process Engineering/Designee



Date

XXX

8.2
Assembly verify that the Booster Extraction Dogleg Two Magnet Assembly Traveler 




(0320-TR-333182) is accurate and complete.  This shall include a review of all steps to ensure that 



all operations have been completed and signed off.  Ensure that all Discrepancy Reports, 




Nonconformance Reports, Repair/Rework Forms, Deviation Index and dispositions have been 



reviewed by the Responsible Authority for conformance before being approved.



Comments:



Assembly/Designee




Date

9.0
Attach the Process Engineering "OK to Proceed" Tag on the magnet.



Process Engineering/Designee



Date

10.0
Proceed to the next major assembly operation:

Booster Extraction Dogleg Two Magnet Module Final Inspection/Shipping Traveler (0320-TR-333228)

Booster Extraction Dog-Leg Final Assembly

Module Unit No.




Page 
 of 17


_1020582123.unknown

_1020582128.unknown

_1020582130.unknown

_1020582131.unknown

_1020582132.unknown

_1020582129.unknown

_1020582125.unknown

_1020582126.unknown

_1020582124.unknown

_1020582121.unknown

_1020582122.unknown

_1020582120.unknown

